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Ideals for irreducible component#ﬂ)f Xpar

I = (W -+ 2u—1)

* 1 irreducible components of dim¢ = 0, with total 32 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LI*=(u*?—ud +...+2u—1)

(i) Arc colorings
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ag —
—u20 4+ 3¢ — 7l + 10wt — 10w + 7ul® — u® — 208 + 3ut —3u? + 1
—u20 4+ 44 — 1000 + 18u' — 23u'? + 24410 — 18u® + 10ub — 5u?
—u" 4+ 2u® — 2uP + 2u
—u? + u’ —u® +u

—u® 4+ 4017 — 10ut® 4 18ul® — 23ul! 4+ 24u° — 18u7 + 10u® — 5u’ )

as = \ —u?' + 3u'® — 707 + 106’ — 1063 4+ Tutt — u® — 207 + 3u® — 3ud +u
—ud +6u? + . — 23+ 2u
alg = 7u31+u30+.”+2u71
—ud +6u + - — 203+ 2u
ato =\ —ut+ul 4. 42u—1
(ii) Obstruction class = —1

(iii) Cusp Shapes

= —4u3! + 24u2° — 40?8 — 882" + 20120 + 228u?® — T2u2* — 456u?3 + 180u?2 + 736u>! —
356120 — 9761 + 568u'® + 10807 — 740u!® — 996w 15 + 812u'* + 760u!® — 736ul2 —
468u'!t 4 564u'0 4 220u° — 356u® — 68u” + 176uS + Su® — T6u* + 4u® + 20u? — 4u — 18



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C7 Wttt —2u—1
Ca2,Cq W11 4+ +8u+1
€3,C4,C
354,05 u327u31+...72u71
Cy, C10
€8, C11 u? — Pt 4+ 8u—4




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,cr 32— 11y =8y 41
¢, Cg 221y =8y 41
€3,C4,C5 v A1t -8y +1
Cy, C10
cs, €11 Y32 — 1593 + ... — 280y + 16




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y/=1CS)

Cusp shape

u = —0.645707 4 0.7692211

3.20190 — 3.544931

—5.40363 + 3.595011

u = —0.645707 — 0.7692211

3.20190 + 3.544931

—5.40363 — 3.595011

u = —0.766364 4 0.5982351

1.37609 + 2.054631

—7.69647 — 5.646191

u = —0.766364 — 0.5982351

1.37609 — 2.054631

—7.69647 + 5.646191

u = 0.650134 4 0.8107241

12.44820 + 5.141771

—4.17146 — 2.016381

u= 0.650134 — 0.8107241

12.44820 — 5.141771

—4.17146 + 2.016381

u = —1.05287

—5.13714

—18.4380

u = 1.056330 + 0.0610261

—2.61740 — 3.124051

—13.03032 4 4.715061

u = 1.056330 — 0.0610261

—2.61740 + 3.124051

—13.03032 — 4.715061

u = 0.636819 4 0.6930701

0.007012 + 0.6629241

—11.48005 — 1.532901

u= 0.636819 — 0.6930701

0.007012 — 0.6629241

—11.48005 + 1.532901

u = —1.082110 + 0.1054691

6.12682 4 4.720211

—11.09441 — 3.427971

u = —1.082110 — 0.1054691

6.12682 — 4.720211

—11.09441 + 3.427971

u = 0.858044 + 0.7248401

6.28397 — 2.757861

—2.60459 + 3.276041

u= 0.858044 — 0.7248401

6.28397 + 2.757861

—2.60459 — 3.276041

u=0.989901 + 0.536666.1

8.67678 — 1.643891

—8.39822 4 2.781581

u=0.989901 — 0.5366661

8.67678 4 1.643891

—8.39822 — 2.781581

u = —0.971964 + 0.6214057

0.65027 + 2.738371

—9.34927 — 0.966161

u = —0.971964 — 0.6214057

0.65027 — 2.738371

—9.34927 + 0.966161

u = —0.869866 + 0.7709161

16.1380 + 2.89941

—2.41783 — 2.829351

u = —0.869866 — 0.7709161

16.1380 — 2.89941

—2.41783 + 2.829351

u = 1.002990 + 0.6603461

—1.07052 — 5.914521

—13.1301 + 6.25021

u = 1.002990 — 0.6603461

—1.07052 4 5.914521

—13.1301 — 6.25021

u = —1.016710 4 0.6883781

2.09241 4+ 9.077611

—7.53326 — 8.396611

u = —1.016710 — 0.6883781

2.09241 — 9.077611

—7.53326 + 8.396611

u=1.028400 + 0.706586.1

11.3054 — 10.84671

—6.07367 + 6.733481

u = 1.028400 — 0.7065861

11.3054 + 10.84671

—6.07367 — 6.733481

u= 0.283633 4 0.6467221

10.54710 — 2.619431

—4.33176 + 2.543571

u= 0.283633 — 0.6467221

10.54710 4 2.619431

—4.33176 — 2.543571

u = —0.343359 + 0.5068211

1.71293 + 1.666161

—5.31847 — 4.815671




Solutions to I}

V=1(vol + v=1CS)

Cusp shape

u = —0.343359 — 0.5068211

1.71293 — 1.666161

—5.31847 + 4.815671

u =

0.432503

—0.576779

—17.4950




II. u-Polynomials

Crossings u-Polynomials at each crossing
c1,C7 Wt —2u—1
C2, Cg u? 4 110 o 8u 1
€3,C4,C
3, ¢4, C5 u32—u31+--~—2u—1
C9, C10
Cg,C11 U32*U31+"‘+8U74




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1,¢7 Y2 — 11y - 8y + 1
€2, Co Y2 +21yM =8y + 1
C3,C4,Cs y32+41y31+---—8y+1
€9, C10
cs, C11 y32 — 15y30 + ... — 280y + 16




